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Not Achieved

No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.













Not Achieved exemplar for 91406 2015 Total score 04 

Q Grade 
score 

Annotation 

1 N1 This is an N1 because it shows understanding of the final dividend payment 
journal entry in question 1 (a), but did not attempt question 1 (d) and there was 
insufficient evidence in question 1 (c). 

2 N0 This is an N0 because the candidate did not attempt this question 

3 A3 This is an A3 because it shows understanding of how to complete a Statement 
of Comprehensive Income with some incorrect stems. The candidate did not 
attempt question 3 (b) so was not able to gain any higher than an A4 in this 
question. 

 




